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(B) (AN LZEEYIERATIEENDLIEENTE(m) (F) (E);b“"_lé'iE%Eﬁ%lﬂ’ﬁﬁi‘é‘éi%%wiﬁéw‘%‘é(m) =rEAR FRTEit AR TR
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XRES B &
(A) (B) (o)} (D) (E) (F) (@) (H) (A) (B) (c) (D) (E) (F) (G) (H)
(1) 107.8 1.0 99.0 10 - - 1.1 2.2 102.6 10 96.9 1.0 - - 11.1 2.2
( 2) 164.9 1.0 99.8 10 21.1 42 15.2 3.0 164.8 10 96.9 1.0 21.1 4.2 14.1 28
( 3) 158.4 1.0 99.7 10 18.3 36 15.2 3.0 158.4 10 98.8 1.0 18.3 36 15.1 3.0
( 4) 160.1 1.0 99.7 10 18.6 3.7 15.2 3.0 159.9 10 96.9 1.0 18.6 3.7 15.2 3.0
( 5) 162.5 1.0 99.7 1.0 18.9 3.7 15.2 3.0 162.5 1.0 96.9 1.0 18.9 3.7 15.2 3.0
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